PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
31st July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Lion reintroduction project is in the sanctuary / 2RI Bt E],T-hﬁﬁlﬂ DG SHRTY

i
® Kanha / B35l

® Kuno Palpur / <] UTeTYR
e Van Vihar / T3 fagr

® Shoolpaneshwar / [ TiRaR

Correct Answer :-Kuno Palpur / $~] UTAIYR

2)
Question Stimulus :-

A manufacturer has 3 products in his portfolio- A, B, C. They are manufactured in batches,
as the cost of changing from one product to another is quite high. A can be produced at a
rate of 1000 units per month, B at a rate of 800 per month and C at 700 per month. Once a
product is taken up for manufacturing it will be continued for at least 2 months and a
product is manufactured only once (one batch) in a year. At a time only one product can be
manufactured. Products have to be manufactured before their respective demand season
starts. Product A demand always happens between January and May, B between April and
September and C between August and January. / Th fFrafar «t fFe=r Hﬁ[ T 3 3dIE % -A, B, Cli
3 o # AT g €, TS TP Swig H) g H ggad B anTd BTH! Sifd §1 A &7 Ud 718 1000 SHIFAL
P T A IAIG 15T Sl Phdl 8, B BT 800 HI &3 A 3R C HT 700 THIEAl I &I A IAIGT [T S Thdll
21 T IR TP IS HT AV YF FH & 915 98 $9 A &0 2 TgH & g I @1 e 8k ue e ot
F9d TP IR (TP SI)) TP Irad A ifd fmar S v 999 # $ad U Idig Hiid fhar o1 e 2|
IAREI Y ITh! Hafdd AT F Uga & FHRfa forar 1 giar 81 SUie A F1 |t 0= 9943 iR W & §i9
gt 8, B &1 AT 3fiel oMk RideR & d 3R € &Y 1T 34 3R wiast & i gl 81

What is the latest month for start of production of B every year if demand for next year to
follow for A, B and C are forecasted as 3000, 2000 and 1500? / B% 3IUIG P J[E3MTd HA &
fore &% Ore @ 1 AdIHaw AT giaT § Ifd SRTA WA A, B 3R C ®1 {1 3000, 2000 3R 1500 & =7

# galgetaa g 82
® February/ HIast

® March /'Fl'ﬁf

()



® January/ a3t
® December / faHaR

Correct Answer :-January / STFGRI

3)
Question Stimulus :-

Who is the highest Law officer of a state? / TS BT Hﬁ'\ﬂ CEc] fafer arfererdt ﬁﬂﬁm %?
® Attorney General / Wﬁﬂ'
® Advocate General / ﬁﬂfm
e Solicitor General / ITARTEX SR
® Secretary General Law Department / 'FIBT\‘IﬁIH fafer fqumT

Correct Answer :-Advocate General / ﬂ%’l’f\m

4)

Question Stimulus :-

If P is the father of R and Q is the sister of R, R is the of Q. / e P, R &1 foar % Tq
QRBITEIZ R QI 3|

® brother / 'J-I'I'sc

® sister / dg

® cousin / T‘-I'%?T,'ﬂ'ﬁ?T 'l-l'lg

® cannot be determined / frruffea qﬁ' foraT = gdr
Correct Answer :-cannot be determined / frraffea T8I T ST Iepdr
5)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg IGESY ﬁﬁl'l'{,\_rﬁ GEg| ?@' T
TRRT NPT F IHE :

If you graduate, then you.will find a position. If you find a position, then you will be
well paid. / I MY FTaP &, a1 3Mud! ue a1 afe smue ve ue fiaar 8, Y iy 3r=sT da
|

@)



e If you are well paid, then you graduated. / af¢ 3TUH! 3T I+ Firerdr g, @1 3y e gl

e If you are not well paid, then you did not find a position. / gfe ATUDT 3BT aad- "6l
foreraT 8, <Y smuw! ug =l firan 81

e If you do not graduate, then you will not be well paid. tr%errqmﬂé’r%, GIRE LG
3T A a1 firerar 81

e If you graduate, then you will be well paid. / afc 3T JTa® €, A MUD! ST da- I |

Correct Answer :-If you are not well paid, then you did not find a position. / gfe maept

33T Ja 81 f¥aar g, df MUl ug 181 firen g

6)
Question Stimulus :-

In Inqlia, what took place between 25 October 1951 and 21 February 1952? /
YRA H, 25 3aga 1951 3R 21 WIa 1952 & & T §3iT UT?

® First Test series/ UGCN ¢ H@dl

® First general elections/ g <l 3TH Y-Td

® First census/ 'CIET'ﬁ STIOTHT

® The Kumbh Mela/ ¥ Hall
Correct Answer :-First general elections/ Ugdll 3ITH gId
7)
Question Stimulus :-

The international airport at Nagpur is named after which former law minister of India? / SFTYR T R

JARRTEHY §ATS Mg BT A1 HIRG & [ G4 S HA1 & 19 W 32
® B.R. Ambedkar / &1, 3R, 3ESH
* Maulana Azad / I 3(THATG
® Mahatma Gandhi / TGTHT T
* Dr. Rajendra Prasad / Sl. 316§ WRITG

Correct Answer :-B.R. Ambedkar / dl. 3R, 3FISHT

8)

Question Stimulus :-
(4)



Find out the pair which is different from the other in the following question. / fauyd
I8 I J1d DI/ ot arfepdl | 37T 3]

e Air and oxygen / gdl 3R TR

e Teacher and Student / JUD 3R sy

e Mathematics and geometry / o 3R Sarfifa

* Flower and petal / Bd &ﬁ?ﬂ'gﬁ
Correct Answer :-Teacher and Student / 3/¢8TU® 3R sy
9)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a3 fa®we gHT
ot fRw U Syl ud el & ar § 9t 21

Statements: / ®Y:
All plates are saucers / 9 @We a%adl &
No saucer is a cup / PIs a3l $U A8l &
Conclusions: / fepd:
I. No plateisacup / I. Hﬁ'é ?ﬂFﬁWHﬁ%
II. No cup is a plate / II. ®Is $U YTeil 981 &
® Only conclusion | follows / Fad ey 1 fAeear g
® Only conclusion Il follows / FHaa fremd 1 e %
® Both conclusion | and Il follows /E;ﬁ:ﬁ' ﬁWﬁf I Gﬁ? II Aead %

® None of the conclusion | or Il follows /ﬁ'@ﬁf IFTIIH D aﬁ's‘ T8 Apadr %
Correct Answer :-Only conclusion | follows /W o 1 Apaan %
10)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe It 3R W BT Bt ¥4 B T T & o€ Bics fparwrar g, A Fu o 4 9
DI A fawer d was il ok feur T waw & fawdia &2

®)
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Correct Answer :-

11)
Question Stimulus :-

Gwalior Gharana, one of the oldest Gharanas follows which form of Hindustani classical music?/ W uﬁﬂ_"[

W 8 | TP, TaTerR TR, gt et Ifta 3t fooa faer &1 ergaRor o 82

® Dhrupad / YUq

¢ Khyal / SITd

® Thumri/ AR

® Tarana/ <IRTHT
Correct Answer :-Khyal / BITd
12)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg ICES ﬂﬁlt{,ﬁ)f qTH P T I
TRRTTWSYTF IAE :

"Mark%is not a student, and neither is Bill a teacher." / "H‘I%WWT@‘T%, 3R q&t ﬁﬁw
e g1

(6)



e Mark is not a student or Bill is not a teacher. / AT T& BT 8! ¢ 91 fIa v e 181 &1
¢ Mark is a student, or Bill is a teacher. /WWW%, mﬁﬁWﬁT&W%I

e It is not true that Mark is a student or Bill is a teacher. / g 9™ Hﬁ%%'ﬂﬁww
2 a1 fya v e 31

e Tt is not true that Mark is a student and Bill is a teacher. / 98 I H‘eﬂ%%ﬂ'ﬁw
B g iR faa we e 71

Correct Answer :-It is not true that Mark is a student or Bill is a teacher. / 98 9™ =|é’r
t fr a1d vo B § u1 foa v e 21

13)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / ey ﬁ, 'EIFT}[ @ q@f ¥ g foasht
THR A B3 vad 3] U fawen & I @ryr ug g e SR ue & a1y S verR @1 d9Y g

ABC:ZYX::CBA:?

® XYZ

® BCA

® vZX

® ZXY
Correct Answer :-xyz
14)

Question Stimulus :-

Who is the youngest and oldest Chief Minister of his state? / 3 RIS & I99 qar 3R gE9 S[arar 39 are
g U I 82

® Prakash Singh Badal / UBIRT ﬁrb' diqd
 ND Tiwari/ Gs! foarst

® Amrinder Singh / Gmﬁﬂ'\" ﬁl‘s'

® Bhagat Singh Koshiyari / HITd Rz SIR[M

Correct Answer :-Prakash Singh Badal / mﬁ‘gm

(7)



15)
Question Stimulus :-
The “Hussain Sagar Lake” is found in / "gﬁqwgﬂw LINIESIGL %_ﬁ'l
® Udaipur / 3qd4¥
® Mount Abu / HT3C ICK
® Hyderabad /%ETITSHE
® None of the above/?ﬁﬁﬁﬂ'ﬁ'&f“—ﬁﬂﬁ

Correct Answer :-Hyderabad / G

16)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the following. / Eﬁ' Mo TYR JIH

91 @ §] e d @ qu wsg) @1 g w1 FIA
Resignation : Office :: / ET-GﬁTb—[ : qpdX i
® Competition : game / ufea T : ¥
® |liness : Hospital / FHRY : FuaTd
® Abdication : Throne / ITSTedTT : R
® Moisture : Rain / 4T : Ty
Correct Answer :-Abdication : Throne / ITSTT : g
17)

Question Stimulus :-

The holy river that is the site for the “Simhastha Kumb Mela” / dg ufes T'IE& S “ﬁ'-im ?‘H A BT A %’
® Narmada/ :IﬁET
* Sindu/Rig
® Shipra/ R
® Ganga/ T
Correct Answer :-Shipra/ T

(8)



18)
Question Stimulus :-

If nuclear weapon means hallucinations, and it’s not hallucinating, then it’s nuclear

weapon. / afe TRATY §R[R &1 Taad afqud g, ok 98 afayd T8l g, a1 98 WA 5RAR 31
* True / Tl
* False / Tad
 Maybe / 8 9% &
* Irrelevant / 3URIf®

Correct Answer :-False / TTdd

19)
Question Stimulus :-

Which of the following districts does NOT belong to Shahdol division? / frafafea o 9 @ PI4 91 forer
RMESTA AU BT T8 &2

® Shahdol / YESIA

* Anuppur / FIR

® Umaria / IHfar

* Dindori / &SI
Correct Answer :-Dindori / f&SIt
20)

Question Stimulus :-

The National Aquatic Animal of India is / HIRd BT ?Tg']'q SR uTol §
® River Dolphin / T'IT}PT & Sifew
« Golden Mahseer / Jgs! HGER
e Olive Ridley Turtle / 3iTfe1d f¥Sell add
* Hilsa/ fgeaT

Correct Answer :-River Dolphin / &l & SIfap
9)



21)

Question Stimulus :-

A, B, C, D, E and F are cousins, No two cousins are of the same age, but all have birthdays
on the same date. The youngest is 17 years old and the oldest E is 22. F is somewhere _
between B and D in age. A is older than B. C is older than D. / A, B, C, D, E 30X F TR 4§ &,

Bt ot S TR ural @) oy uw wuH T8l 8, fbg 9t & o 39 &) 9w tw € 31 I B $Y 3y 17
TR AR TS E BT AY 22 FHFIAYB IR D FAAEI A, BIATST81 C, D T TSI 8l

Which of the following is NOT possible? / 99 ® I =1 G4q 8] 82
e Dis 20 years old. / D 20 HTd &7 g1
e Fis 18 years old. / F 18 ITd &1 g1
e Fis19yearsold. /F 199 ®I 3 |
® Fis20yearsold./F ZOWW%I

Correct Answer :-F is 20 years old. / F 20 ITd &1 gl

22)
Question Stimulus :-

The chairman of the Rajya Sabha has / TS HHI & JUTUT F T @ :-
. norighttovote/ﬁfﬁﬂﬁﬁimaﬁg&f\wqﬁ
° arighttovoteincaseofatie/m%mﬁaﬁ?aﬂﬁﬂm
® voting right in all the matters / Tt ATl § Aderd 97 SATUeR

® aright to vote only on amendment bills / TNeE foa w HEGEHE] A BT ATUPR
Correct Answer :-a right to vote in case of a tie / SRTER] & HTHA H dIc HI1 PT ATUPR

23)
Question Stimulus :-

Which Hindi poet from Madhya Pradesh is the author of ‘Brahmarakshas’? / 49
T & A A ) Bl TR & due €2

® Gajanan Muktibodh / TTSITFI gfaaaie
® Rahat Indori / ¥8d EEI'\”

(10)



® Uday Prakash / 3Gqd UhIRA

® Mrinal Pandey / HUITcl qrugy
Correct Answer :-Gajanan Muktibodh / TSI gfaaaly
24)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafad vy & e arfe w0 # <) F) orawt B3 3R 3P are 9 Ry v fwen § ¥ v Iuge
3T BT IIT P
1. Atomic age 2. Metallic age 3. Stone age 4. Alloy age

1. AV YT 2. 9T 3. AT 4. Fggn
e 1,34,2
e 23,14
e 3,2,4,1
e 43,21
Correct Answer :-3,2,4,1
25)

Question Stimulus :-

What is the maximum number of Arjuna awards that can be given in a year? / GIT{IT-I TIDR 3t AfYwHaH F=
TN v 9 & & o w32

* 10

® 15

® 25

* 30
Correct Answer :-15
26)
Question Stimulus :-

The Brahmosamaj was started by / STgTHTIST fras grT yR™ f5ar wam ot
(11)



® Raja Ram Mohan Roy / TSIT XTH Hig 34

¢ Bal GangadharTilak / dT¢T TR faeas

® SavitribaiPhule / TIfaAETS Far

® JyotibaPhule / aﬂﬁr«n Eﬁ'
Correct Answer :-Raja Ram Mohan Roy / XTSIT ITH HIgH 314
27)

Question Stimulus :-
In an office, 1/3 are women, half of them are married and 1/3 of them have children. 3/4 of the men are married and
2/3 of them have children. What part of the workers have no children? / Th CARITSE ﬁ, 1/3 Tt %', 399 | e
faarea T 379 | 1/3 & 9= €| 3/4 YoU fJared & vd 399 @ 2/3 & 9= §| Siial & foraq sz o
g, s 9= 181 22

* 5/18

* 4/9

® 17/36

e 11/18
Correct Answer :-11/18
28)
Question Stimulus :-

How many times ‘A’ exceeds ‘E’ in the word ‘EXTRAUAGANCE’? / ‘EXTRAUAGANCE’ s
¥ A’ fpaa 9 E’ ¥ et 82

e 1

e 2

e 3

e 4
Correct Answer :-1
29)

Question Stimulus :-

(12)



Which one of the following is the guardian of Fundamental Rights? / {99 ® § P9 I1 Hifere SfUeRI &1
D 72

® Legislature / faur vea

e Executive / PTUBRI
® Bureacracy/ T'ﬁmlﬁ

® Judiciary / AT A
Correct Answer :-Judiciary / =TI
30)

Question Stimulus :-

is the largest single block of tidal halophytic mangrove forest in the world. / gﬁﬁﬂ T wOR
TABI AP TSGR SITd BT a4 51 Thd WS ¢

* Sundarbans / qad

® Madhu foreest / HYd-

® Vandalur Reserve forest / IS SRF&T a1
® Bhitarkanika Mangroves / WravsomeT S HERIES

Correct Answer :-Sundarbans / ¥

31)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey @ﬁ'q
o feT T Syl v Aepul & 9R § 98 1

Statements: / TYH:

All flowers are roses / I P e g

No roseisred / ﬁ'ﬁ'ﬂﬁ'ﬁm?{ﬂ%
Conclusions: / sy :

I. Some flowers arered / I. $9 Pd dlel ?

II. No flower is red / II. $13 Bd A9 8l 8
e Only conclusion I follows / %aad foewd I frpaar @

(13)



® Only conclusion Il follows / W forem 11 Freaar %

e Both conclusion | and Il follows /aﬁ sy 1 Gﬁ'\" II FAead %

® None of the conclusion | or Il follows /ﬁ'lﬁﬂf IArII ® @ aﬁ".i: qﬁ IGENGI %
Correct Answer :-Only conclusion Il follows /W frspd 1 e %
32)

Question Stimulus :-

is the orange city. / E 1L LIRS %l

. Pune/'ﬁ'&f

® Nagpur / FITTYR
® Patiala / UfcaTam

e New Delhi /=8 et

Correct Answer :-Nagpur / RTYY

33)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope ﬂﬁT{
it fou T YAl vd frepul & IR o 98t 2

Statements: / YH:
Some watches are bands / $9 ‘ZI'%'CITTQ &
All bands are bracelets / I T2 %74 §
Conclusions: / fead:
I. All bracelets are bands / I. 9 & 12 §
II. Some bracelets are watches/ I1. $& I ﬂ'ﬁ':'*ﬁ%
e Only conclusion I follows / ¥ fspd I fAwadar g
® Only conclusion Il follows / Faa faey 1 fAeadr %
® Both conclusion | and Il follows /éﬁﬁ: A 1 \’rﬁ? 11 Aopad %

® None of the conclusion | or Il follows/ﬁ'ﬁﬁf IFTIIT D aﬁg T8 Apadr %

(14)



Correct Answer :-Only conclusion Il follows /W ferspd 1| fRrpear %

34)
Question Stimulus :-

A blacksmith has five iron articles A, B, C, D and E each having a different weight. / T JgR
% UM A,B,C,D 3R E Ud g TH 3@ YRG! dlg T axué &

1. A weighs twiceas much as B. / 1. A®THR B @Zﬁ'ﬂTIT%I

2. B weighs 4 and a half timesas much as C. / 2. B T 4R C T 4 GﬁTGIT‘r‘.IT{F-IT%I
3. C weighs half as much as D / 3. C hT YR D J 3T %l

4. D weighs halfas much as E. / 4. D dI 4R E I S{T‘EJT%I

5. E weighs less than A but more than C. / 5. E &1 4R A § 4 Af$ C ¥ ST g1

Which of the above given statements is not necessary to determine the correct order of
articles according to their weight? / SWRIT ST T &1 A A & S¥va axgeil $1 YR T T8t HH
T & e =g 32

e 1
e 2
e 3
e 5
Correct Answer :-5

35)

Question Stimulus :-

The Tansen Music Festival is held in /?I'F-I@? IMa FFI'R-']E' o Imra fovar siran %I
® Bhopal / HIgTed
° Indore/'&i?a?
® Ranchi /Ti'_r-ﬁ
® Gwalior / TTTeRIR

Correct Answer :-Gwalior / T@TeIOR

(15)



36)
Question Stimulus :-
Which is the oldest book of Ayurveda? / 3Tgd¢ P! T U fpdrd &I | 32

® Charaka Samhita / IIRD '\q'%?ﬂ

® Shushruta Sambhita / YT fgar

® Atharva Veda /3 ?-l'ﬁ:'ai{

® Mundaka Upanishad / US® UG

Correct Answer :-Charaka Samhita / IR Tigdl

37)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& faea ﬁﬁlﬁ,\_rﬁ qH Bl T T
T fog W FYT & wAE

If you are a kid, then you cannot watch a movie. /!T%GH'IWEIE}%', ar Gﬂqwfﬁ'ﬁqﬂ’eﬁaﬁ
THd |

e If you are not a kid, then you can watch a movie. / fe errcraér?e?r%, a arrtrwﬁv—cq
3@ god gl

e If you are a teenager, then you can watch a movie. / af¢ 314 T f=0R €, o oy feed
&G goa g1
e If you can watch a movie, then you are not a kid. /wﬁmﬁﬁqé@m%‘,aﬁ 3 9=
TR 7l
e If you can watch a movie, then you are a teenager. / g oMy fFew ¢ I&d %‘, ar ey
PRI T
Correct Answer :-If you can watch a movie, then you are not a kid. / gf& 3mu fieed 3@
& &, a9 37 9= T8 B
38)
Question Stimulus :-

The accused is more powerful than the dead. The police is less powerful than the court
but more powerful than the lawyer. The accused bows his head in presence of the
police. Who is the most powerful? / SIRTUt qd T oiftre wfea=med 81 Hﬁr\‘r 3erad ¥ HH dIddar
8 W Tod ¥ S aPHaay 71 AR YR & qHaT 31U 69X FPTaT o1 9ad e Afea=imedt i g2

(16)



* Police /g™

e Lawyer /aPa

e Court / 3iqldd

e Accused / 3RTUt
Correct Answer :-Court / 3fqraid
39)

Question Stimulus :-

Directions: On the shelf are placed six volumes side by side labeled A, B, C, D, E and F.
Three volumes C, B and E have blue covers while the rest have red covers. D and F are
new volumes while the rest are old volumes. A, C and D are law reports while the rest
are gazetteers. / &z fodft [ew W B8 WU B A,B,C,D,E 3R F # 3ifd S TH guv & U9 341
4T 81 §8 ¥ @9 T €, B 3R E W i 3TaR0T § Safd A9 W aTa &R0 g1 D 3R F ¢ UY &,
Waf® AT RM &1 A, C 3R D ST & faawor g, 919 o5 v fya=ivmeT §1

Which two volumes are old Gazetteers and have blue covers? /574 I P G ‘;'RIHTﬁ
faazforeT § ofik 99 W e smaRr &2

e B&F
e B&E
e B&C
e E&F
Correct Answer :-B & E

40)
Question Stimulus :-

The Constitution of India was passed by the Constituent Assembly on- / Tfaem Ut grRT, " g9 fo=
qrfee T Ul-

® October 17, 1949 / gAY 17, 1949
® November 14, 1949 / Td¥R 14, 1949
® November 26, 1949 / -TdY 26, 1949

® January 26, 1950 / STaR] 26, 1950

Correct Answer :-November 26, 1949 / IdHIX 26, 1949

(17)



Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT DR 9GAT BT GRT HIfoQ :

2,511,  ,47
° 20
° 22
e 23
® 25
Correct Answer :-23
2)
Question Stimulus :-

If STAR is coded as RSZQ, then PARK will be coded as / f& STAR @I RszQ & Pifed fHdT ST 8, of PARK BT T
Pifsd far A

* QBSL

e 0ZQJ

e STAR

« SCTM
Correct Answer :-0ZQJ
3)

Question Stimulus :-

In tossing of two coins, what is the probability of not getting two heads? /Eﬁ'ﬁ'&'{&fﬁﬁ% %P GI'I%I'%I 2 ﬁlﬂ'qﬁ\ﬂﬁ' Al
TUTTAT RT]?

° 1/3
° 1/4
° 1/2

e 3/a
(18)



Correct Answer :-3/4

4)
Question Stimulus :-
8

Walking / th of his usual speed, a boy is 12 minutes late. The usual time taken
6

by him to cover that distance is/ 3! 9/ 7fa & / & ¥ I R, TP ds@T 12 fiFe 8
q ugTar 71 S gt Ft A Afq | a9 FA W IHT TR

® 1hr20min/19er20 fime

® 1hrishr/19er1s e

® 1hri2min/19er12 fiFe

® 1hr/19el
Correct Answer :-1hr 12 min/ 1 9e1 12 ffFe
5)
Question Stimulus :-

Za—-zh Za—Zh

is / O ab = 7:3 @ ~A+EF A &

If a:b = 7:3 then the value of

| wa

[N

[N ]
M|U|

ra
Llllm

3 |U‘|

o8]
)

Correct Answer :-

6)

(19)



Question Stimulus :-

In a certain code language, moz lam kar means good little dress, jic kar pey

means boy looks good, pey nip deg means nice big boy, gon pey lam means

little boy ran. Which is the word for dress in that code language? / f&l @9 ®is

HTT ﬁ, moz lam kar 1 Hddd % good little dress, jic kar pey &1 Hddd % boy looks

good, pey nip deg &1 Hddd % nice big boy, gon pey lam &1 Hdcdld % little boy ran |
Pl UTUT H dress & T &1 71eg; B2

® Jlam

® kar

* pey

® moz
Correct Answer :-moz
7)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, G@I1 491 § TP UG TAd §| Tad Ue 3 BicA| 1,2,4,8,16,48

® 48

Correct Answer :-48

8)
Question Stimulus :-
Complete the series choosing the missing number: / TAQW IWAT DR 9GaT BT GRT HIfoQ :

2,15,41,80,
e 1
* 120

* 121

(20)



° 132
Correct Answer :-132
9)

Question Stimulus :-

How many different seven letter words can be formed using the letters of the word ‘COLLEGFE’ if repetition is not allowed? /
gﬁmq%ajﬁaﬂﬁ%,aa'couses'w% 3R} BT TR HIP T4 3HeR F fhaa Al s a9 goa
?
e 2520
® 1260
® 5040
® 630

Correct Answer :-1260

10)
Question Stimulus :-

If one number is 80% of the other and the sum of their squares is 164. The numbers are/ ?T% Th HST 'g'('\‘:lﬁ =T B
80% ® 3R 3% T HT AT 164 g °f H&AT &

* 45
* 8,10
* 16,20

® None of these/ sqﬁ I aﬁé T-Ig"[

Correct Answer :-8,10

11)
Question Stimulus :-

A dealer bought a watch for Rs. 420. Find his selling price, if he sold it at a loss of 5%7? / T® fagrar = 420
TUT P TSt WIS 3R I 5% & JH I R 39 99 3a11 g5 & ) o &1 uar s

® Rs.499 / ¥UT 499

¢ Rs.399/3FUUT 399

(21)



® Rs.299 /37U 299

® Rs.199/¥UU 199
Correct Answer :-Rs.399 / ¥UU 399
12)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? /ﬁ'H GﬂTﬁf T & o
FAqH ST WO fpadt W Yanel st smazawman gifte

Correct Answer :-10

13)

Question Stimulus :-

A batsman scored 120 runs which included 9 boundaries and 3 sixes, what percent of his total score did he make by running

between the wickets?/ U% TeaiaTSl 4 120 ¥ §91¢, orH 9 o1& 3R 3 TP WA €, ST 301 $A TR
P1 fPa1 ufawa APl & ST SisH: Tamr

* 55%
* 50%
* 52%
* 48%

(22)



Correct Answer :-55%

14)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ P R IR udl § & 2 A 18 ud & S guE B9 91 v T8 22

New Systems Online

Flat D, 6/F, Golden Industrial Center, Block 4,
182-190 Tai Lin Pai Road,

Kwai Chung, N.T.,

Hong Kong

(i) New Systems Online

Flat D, 6 /F, Golden Industrial Center, Block 4,
182-190 Tai Lin Pai Road,

Kwai Chung, N.T.,

Hong Kong

(ii) New Systems Online

Flat D, 6/F, Golden Industrial Center, Block 4,
182-190 Tai Lin Pai Road,

Kwai Chung, N.T.,

Hong Kong

(iii) New Systems Online

Flat D, 6/F, Golden Industrial Center, Block 4,
182-190 Tai Lin Pai Road,

Kwai Chung, N.T.,

Hong Kong

(23)



(iv) New Systems Online

Flat D, 6/F, Golden Industrial Center, Block 4,
182-190 Tai Lin Fai Road,

Kwai Chung, N.T.,

Hong Kong

® i

® ii

* v
Correct Answer :-iv
15)

Question Stimulus :-

If diagnosis is coded as DGNSoia and medicine as CDMNie, how will injection be coded? /

Ife diagnosis $ DGNSoia ¥ 3¥ medicine I CDMNie ¥ ®ifgd forar SiraT €, @ injection &1 $9
Pifgd foar smam?

e CINTEIO
e CIJNTeio
 ¢cjntOIE
e CINToie
Correct Answer :-CIJNToie

16)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R YIS SGaAT Bt [T IO : mm
__NOO _ M _ NOO _ MNNO _

® nmnmo
® nnmmo

® nmmno

(24)



® nnmoo

Correct Answer :=-nmnmo

17)
Question Stimulus :-

The below series uses a sequence pf alphab.ets.apd nu_mbers. Identify the
incorrect combination. / - € TS 9@ar &Rl T T=TS3H HT SIHH UANT HRel §| Tad
i SRR

(i) MQN678MN9
(ii) MQN578MN9
(iii) MQN678MN9
(iv) MQN678MN9

® i

® ii

® jy
Correct Answer :-ii
18)

Question Stimulus :-

A can do a work in 15 days and B in 20 days. Both of them work for 5 days, then the remaining work is / A foreit

ST P 15 &1 A & a1 g 3N B 20 341 A1 1 5 &7 o0 &= € I, v & ghm

7
12

= W]

p—

(25)



—
(] ] LM

I LA

1

[R]

Correct Answer :-

19)
Question Stimulus :-

In a certain code language, cam loe tri means died down he, moc tri jes means clouds pour
down, tri poz cam means down he goes. Which is the word for goes in that code language?
/ Tt @ B8 W H, cam loe tri 1 Haad § died down he, moc tri jes ®1Hddd & clouds pour
down, tri poz cam $1Addd § down he goes | 34! B U § goes F forw T 71t 82

® cam

® i

° poz

® Joe
Correct Answer :-poz
20)

Question Stimulus :-

A man traveled a distance of 61 km in 9 hours. He traveled partly on bicycle at 9 km / hr and on foot at 4 km/hr. The distance

traveled on foot is/ T 3THT 9 T H 61 fHH Tt g3t 70 Ha1 31 $© UFT 9 Tl 52 &1 7ifa & wrsfra w® g
8 SR 9Tt Bt 4 el e 3T 1fa & Uga gaa1 81 Uga o9 Bt T g giT

* 16km /16 foeit

« 25 km/ 25 f&Ht

« 30 km/ 30 fodt

« 45 km/ 45 f&dt
Correct Answer :-16 km / 16 &t

21)
Question Stimulus :-

The average of humbers between 1 and 100 which are multiplesof 7is / 1 3R 100 F diT Ft
T@rel} BT fid St 7 & I 8

(26)



* 52
® 53
® 52,5
e 53.5

Correct Answer :-52.5

22)

Question Stimulus :-

L |

rd of them. How many
?

Geetha had 30 problems for home work. She worked out

problems were still left with her? / YT % U 98 $14 & T 30 Ha@ & S99 390 4 3 wem
B3 forar] ST& U 3t +ff fpeq TaTe 2y &2

e 20
* 30
® 40
e 10
Correct Answer :-10

23)
Question Stimulus :-

If 8A687 + 6950A = 15A191, Where A is representing a numeral; What is the value of ‘A’? / 'CI'% 8A687 + 6950A = 15A191
WET A TP HBAP §, d A BT A HT §RI?

Correct Answer :-4

24)

(27)



Question Stimulus :-

Mohammed brought a television set for Rs. 12,000.Later sold it for Rs. 10,000.What is his
loss percent? / HIgWe T ¢4l I¢ 12,000 $U3 § @11 91¢ H 98 10,000 $Ud § 99 faam I9a1
TJHIH ufaxa w1 82

® 16.5%

® 17.5%

® 16.4%

® 14.5%
Correct Answer :-16.4%
25)
Question Stimulus :-

In a certain code language, fruit is good means jham carz beta, eat good food means carz
lemp gren, tree is tall means beta prom loco. Which is the word for fruit in that code
language? / {53 @ 18 UMW #, fruit is good 1 AGAS & jham carz beta, eat good food T
Hddd % carz lemp gren, tree is tall &1 Hddd % beta prom loco | I PIS UV H fruit & ﬁfl‘l'{ T

TS 82

® jham

® carg

® beta

® Jemp
Correct Answer :-jham
26)

Question Stimulus :-

(9/3)x8+(6x2)/4-(35/7)x6=?

Correct Answer :--3
(28)



27)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R FADR 4T I [T HIOT : ccb
c_bbc_b_cc _ _ccbb

® hccbbb

® hccchb

® Qaaaaba

® bbbbbb
Correct Answer :-bccbbb
28)
Question Stimulus :-

In tossing of two coins, what is the probability of getting at least one head? / a‘rﬁrw&rﬁlaa? T Gl'l?f%l FH Y HH 1
e oM P AU R E?

° 1/2

* 1/3

* 1/4

® 3/4
Correct Answer :-3/4
29)

Question Stimulus :-

In the sequence shown below, which figure comes next? / i e T H9 A srTelt
3rpfa ®iF I grit?

T s0e Y *ce
T 1TE aoe e
TE eee s see
oee
oo e
, |ews

(29)



=11
"9
L L QK

See
T
Y

=1 1
98
*8 D

Correct Answer :-

30)
Question Stimulus :-

7x=-21 the value of x / 7x=-21 x HI HIH

¢ -2
° -1
« -3
e 0

Correct Answer :--3

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The projections of varying lengths protruding out of amoeba, which facilitates movement

and capture of food are / 3HiaT ¥ 18R Aeaq ard (AT TRl F TSRy S & STS Jaad 3R
HIoH UPpe § WeTadl $34 &, S o

e cilia / fforaT
o Flagellalml'lﬁ-lﬁf

® Pseudopodia / UTGIH

® None of the above/mﬁﬁ k| ﬁz—% T'Iﬁ

(30)



Correct Answer :-Pseudopodia / OTGIH

2)
Question Stimulus :-
The normal body temperature of human beings is generally 98.6° on the Fahrenheit scale.
What would be the temperature on the Celsius scale ? / Ilﬂ'&ﬂ & IR T AR G179 AT IR R
BRAEISC dU%hH IR 98.6° Tl ¥1 ARAT d1uspH W) Ig av fora=m gm?
e 100°C
e 350C
e 370C
e 98.6°C
Correct Answer :-37'C
3)
Question Stimulus :-

Organisms with billons of cells begins life as a single cell which is the / 9 Siig foFH ol
FIRER gl &, 3T Siiae B YA Thd HIRAGI & *7 J I 8, 51 8

® Unfertilized egg / Sfeufa sist

¢ Embryo / YUl

® Fertilized egg /ﬁrﬁrﬁm 3isT

* Developed sperm / fa®iRyd R[PTY]
Correct Answer :=Fertilized egg / BLIECEEE
4)
Question Stimulus :-

The area of the sector of angle 9 in a circle of radius ‘1’ is ./ EEe N qafr' e
PIUT P JIeX BT ATPA @

(31)



6 .
R

-

Correct Answer :-~

5)

Question Stimulus :-

Combination of two or more cells is called / I TT &I ¥ 3RIF AT F T B HgT oTal @
e Battery / 931
 Torch / TId

® Inverter / Eqa_cf?

® Circuit / aRTY
Correct Answer :-Battery / Sc3t
6)
Question Stimulus :-

The constituents of urine are, / A & WToD %,

® 959% water, 2.5% of urea and 2.5% of other waste products / 95% vqid, 2.5%

giar 3R 2.5% 39 9 uerf

® 80% of water. 10% of urea and 10 % of other waste products / 80% SIcl, 10% q;ﬁ‘cn 3T 10 % 3
I ugrd

® 90% of water, 5% of urea and 5% of other waste products / 90% STdl, 5% ?Ih'CIT Gﬁ?’ 5% 3 Eq?jtl?.T%f

* 989% water, 1% of urea and 1% of other waste products / 98% Sd, 1% Jidl 3R 1%
3 =Y uard

Correct Answer :-95% water, 2.5% of urea and 2.5% of other waste products / 95%
od, 2.5% JiAr 3R 2.5% 3 s ggrd

7)
Question Stimulus :-

lodx+ v)=logx+ log v
If goc+ y)=log g , then find the relation between x and y / g

(32)



loglx+ yv)=logx+logy @ x AR y ¥ & way

[ ] X:y

Correct Answer :-

8)
Question Stimulus :-
Meera and Mamatha invested in a business. They earned some profit which they divided in
the ratio of 2: 3. If Meera invested Rs. 40000, the amount invested by Mamatha is: / fﬁ?Tt{Ti'
THAT A U AR § a1 fGan 354 o a1y 3fsla fhar o 3= 2:3 & orurd | fauifora fean afeg
#RT 9 40000 T fHawr fHA, ot awar gr1 HafRea X &:

® Rs. 50000

® Rs. 80000

® Rs. 60000

® Rs. 45000

Correct Answer :-Rs. 60000

9)
Question Stimulus :-

PQRS is a rectangle with PQ = RS =91 cm, QR =PS =9 cm. Find the perimeter of PQRS /
PQRS U® 3(1Ud € 94T PQ = RS = 91 9, QR = PS = 9 9 §1 PQRS &1 URHT I FIfRME|

e 200 cm /200 THT
® 100 cm / 100 T
® 50cm /50 JHt

® 819 cm /819 THI

(33)



Correct Answer :-200 cm / 200 I¥t

10)
Question Stimulus :-

Which metal is present in the exhaust gases given out by automobiles? / i Urqg ST ord g+l gIRT S
frepTia it § Sufua gt 32

® Jron/ Fﬁ?T

 Zinc /Sl

® Magnesium / ﬁ?ﬂ'&lﬂﬁ

® Lead /3T
Correct Answer :-Lead / ST
11)

Question Stimulus :-

It is easier to walk on the soft ground with flat shoes than shoes with pencil heels because / -IRH FHHA R el E?apf

& S DY U THAS S eI qoT ST Bl § HTP
® Areain contact is larger & pressure exerted is more / TIudh Ea_af qd3T Td &A1 1T &I 3rfirp Eﬁ?ﬁ %
® Area in contact is smaller & pressure exerted is more / U 8-33[ Ber I{H ST T™T qld 3Ife ﬁ?ﬁ %
® Area in contact is larger & pressure exerted is less / Tud aa §ST1 Ud TRI™T T g9 Bﬁ_cIT %

® Area in contact is smaller & pressure exerted is less / W 233[ Bl E',a T TR™IT qId hH Eﬁ?ﬁ %

Correct Answer :-Areain contact is larger & pressure exerted is less / Tudh ?33[ g1 Td T 147 &9

9 ga1 5

12)
Question Stimulus :-

The movie viewership pattern of a sample of 4000 Bangaloreans is tabulated below.
The pie chart also gives age-wise distribution of the 4000 Bangaloreans. /4000 o
Rl & R 3R & afi% &1 73Ar ) few e daa A exifar war 81 urs =rd gRT 4000 SER
Rl @1 39 & SrgaR faavor ff feamar man 31

(34)



(Figure in percentage) / 9Taed & &

Elders /
Children / Middle age/ | 99
ECS] Youth / JaT | FET 3T
=45 yrs
<15yrs/ | 19-29¥18/ | o645 yrs 5T ¥
aq 15-25T9 /26-45T9 Eoey
Casablanca
A 20 45 65 63
DDLJ
Finding Nemag
Titanic
None ofthe
above/
FWET H &
Hig o =g 18 o " e

(35)




~Elders, 21%

Ididdle-aged, '/f
33%

L

/—Ehlldren 7%

Y outh, ¢§

Which of the statement/s is/are true? / s_rl'ﬁ d B '\"-IT/ﬁ HYT Bl %?

I. DDLJ is the most widely-seen movie among youth / gaisii & & SiSieas Iad 3MfF
& WA arell e 8

I1. The number of elders seeing Casablanca is more than the number of mlddle-aged

people seeing Titanic. / TR ST T HEH ST F AR I =T F 3P =T
aret Il B &

III. The number of children seeing Finding Nemo is less than the number of elders

not seeing any of the given movies. / BIEIST 19 ¢W a1a F= S T 39 I 1 G A HH
2 St i € @i it fbew 7€) e=al

e Ionly/ Faa I

e I&II/ISNRII

e II & III/II 3R III

e III only /%qd III
Correct Answer :-I & I / I 3iR II
13)

Question Stimulus :-

The movie viewership pattern of a sample of 4000 Bangaloreans is tabulated bglow.
The pie chart also gives age-wise distribution of the 4000 Bangaloreans. /4000

iRt & R 3 & 98P &1 T = fou e daw & g=ifar mar @1 urs @ §IRT 4000 SER
Frarfral &1 39 & garR faazur ff fearar war 81
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(Figure in percentage) / 9Taed & &

Elders /
Children / Middle age/ | 99
ECS] Youth / JaT | FET 3T
=45 yrs
<15yrs/ | 19-29¥18/ | o645 yrs 5T ¥
aq 15-25T9 /26-45T9 Eoey
Casablanca
A 20 45 65 63
DDLJ
Finding Nemag
Titanic
None ofthe
above/
FWET H &
Hig o =g 18 o " e

(37)




~Elders, 21%

Ididdle-aged,
33%

/— Children, 17%

Youth, 2 ";:I_//

How many children in the sample saw Finding Nemo? /H’@ﬁ' fpaq s= ﬁtl?i?{%'ﬂ Sitl
35i?

e 278

°* 264

e 238

e 198
Correct Answer :-238
14)

Question Stimulus :-

In the given figure, if TP and TQ are the two tangents to a circle with centre O so that £
POQ = 1109, then £PTQ = . / G enpfa A 0 g a1 g Bt o W 3@ TP 3R
TQIHUPR e fF £P0OQ = 110° a1 £PTQ = gl

\

:E' -;__.ﬁ—’
AU/
B “"\l \

0

\ /

%
—f 0

/
f

e 60°

e 70°
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e 550

e 9g0°

Correct Answer :-70°

15)

Question Stimulus :-

Which among the following changes is not a Chemical change? / g ufvad=l & | &9 91 e ufvada
T8I B2

Rusting of Iron. / @ig H ST @I
Photosynthesis in plants. / tﬁ‘éﬁ T UBT T

Ozone in presence of UV radiation changes to Oxygen / WRIST=I fvoN o1 Sufifa &
IS o7 SifRiteH # uRad= gl

Formation of clouds in the sky. / SITPRIRA | awa‘r 1 fmtor

Correct Answer :-Formation of clouds in the sky. / 3T ¥ gTgal &1 fFwtor)

16)

Question Stimulus :-

The movie viewership pattern of a sample of 4000 Bangaloreans is tabulated below.
The pie chart also gives age-wise distribution of the 4000 Bangaloreans. /4000 o
Rl & R 3EA & af% &1 A 99 few T dva o exitar @1 urd =ré gRT 4000 SEIR
Rl &1 39 & gER faarur ff feamar mar 81

(39)



(Figure in percentage) / 9Taed & &

Elders /
Children / Middle age/ | 99
ECS] Youth / JaT | FET 3T
=45 yrs
<15yrs/ | 19-29¥18/ | o645 yrs 5T ¥
aq 15-25T9 /26-45T9 Eoey
Casablanca
A 20 45 65 63
DDLJ
Finding Nemag
Titanic
None ofthe
above/
FWET H &
Hig o =g 18 o " e

(40)




~Elders, 21%

Ididdle-aged, '/f
33%

L

/—Ehlldren 7%

Y outh, ¢§

How many people saw DDLJ? / fpa= @ A SiSiues ddl?
e 1260
e 1618
e 1816
e 1714
Correct Answer :-1816
17)

Question Stimulus :-

The movie viewership pattern of a sample of 4000 Bangaloreans is tabulated below.
The pie chart also gives age-wise distribution of the 4000 Bangaloreans. / 4000 TR
it & R ¢ & 98F &1 T A= fou e daa & exifar mar 81 urs 91 §IRT 4000 STER
it &1 39 & srga faawun ot femmar mam B
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(Figure in percentage) / 9Taed & &

Elders /
Children / Middle age/ | 99
ECS] Youth / JaT | FET 3T
=45 yrs
<15yrs/ | 19-29¥18/ | o645 yrs 5T ¥
aq 15-25T9 /26-45T9 Eoey
Casablanca
A 20 45 65 63
DDLJ
Finding Nemag
Titanic
None ofthe
above/
FWET H &
Hig o =g 18 o " e

(42)




~Elders, 21%

Ididdle-aged, '/f
33%

L

/—Ehlldren 7%

Y outh, ¢§

How many persons below 25 years saw Titanic? /25 a9 | $9 fHa @ A E‘I’&ﬁﬁ GLGIF:

e 346
e 371
e 378
® 439
Correct Answer :-439
18)

Question Stimulus :-

Adhithya developed pimples on his face at puberty. This is due to / WTARY W 3T F Ay W H_GT\Q'
fawiia g1 Ul g5 9 FRT 9 gen

® Poor hygiene / WRIF w5 dl

* Lack of balanced diet / T{ferd 3R &1 HA

e Increased activity of skin glands / &=IT Jfddi @t Tiafafed o gfs
® Poor immunity / ERTd e

Correct Answer :-Increased activity of skin glands / @1 Jfdi @t TAfafea o gfs

19)

Question Stimulus :-

(43)



The tracheal respiration is seen in / YTITe GIRT 4= 3T ST & -
* Frogs / HG®dI 0
® Insects / @il o
® Earthworms / héﬁ |
* Fish / HSAt
Correct Answer :-Insects / Hicl #
20)

Question Stimulus :-

In what time will Rs. 5000 give Rs. 500 as interest at the rate of 4% p.a. S.l / fraa 99T # 5000 U BT JTURUT
TS 500 $UA Uy 4% TS ®I &3 A SHI?

® 25vyears / 2.5 a¥

® 3years / 3 GL

® 35vyears / 3.5 L

® 45vyears / 4.5 L
Correct Answer :-2.5 years / 2.5 @4
21)

Question Stimulus :-
A farmer grows 2 kinds of crops in his field. One of the crops is a leguminous pea. Which of the following
minerals will the soil contain naturally by this particular combination of cropping? / Ud fPa A wWa A 2
UPR & BHAl &I Wdl Pl gl S8 4 U@ BHA BAlGR HeR ¢l Bud & 39 faRiv waieq grRT A &
q DI AT WS Wpfae =0 | gaT & urdr STem?

® Nitrogen / q'lga\_rﬁ

® Phosphorus / BIpRT

® Potash /Tﬂ%ﬂ

e ITron / 3G
Correct Answer :-Nitrogen / TggIol

22)

(44)



Question Stimulus :-

Plantation Crops grown on large estates of land are / Gﬁ:ﬂq ® 3% 1%'?-'\"-!3[ H 3"'I'I".§c ST 9rell YT BHA %
® (Coffee & Rubber / PIBT 3R IS
® Sugarcane & Beet root / T 3R qPha
® Qil Seeds & Nuts / et i 3R e
® (Cereals & Vegetables / 3[HTGl 3R Ffesrar

Correct Answer :-Coffee & Rubber / ®IB! 3X TaX

23)
Question Stimulus :-

The thickness of gold leaf is about 0.0000125 cm. This is represented in the standard form as

T @1 Il BI HIeTs TUT 0.0000125 T I W AFESF ®IH lﬂﬁﬁvﬁl‘dm\'ﬂm%l
* 1.25x10°m
* 1.25x10%m
* 1.25x108%m
* 1.25%x107m
Correct Answer :-1.25 x 10"'m
24)

Question Stimulus :-

What is Bed Rock / STHUIR <IeT T §?
® The place where animals sleep / 98 R S8l SITHaR i %
® Tt is the rocky mountain / Ug EI'SFﬁ' &1 gdd %
® Deepest layer of soil which is hard / {aI | m TI?'\& Oq3d S g %
® Horizon with small lumps of rocks / ils'l:ﬁ & Bic fvsi & a1y aﬁlﬁ %

Correct Answer :-Deepest layer of soil which is hard / J&l I g9 e WRd S 9T %

25)
Question Stimulus :-

(45)



The Force that opposes the motion of an object is called / I S| a¥q @1 Tfd B fRIY BT %, Dhedldl %

® Magnetic force / gaaﬁu Gl

® Muscular force / =iy §9

® Gravitational force / Wﬂﬁw

® Frictional force / oyt §a
Correct Answer :-Frictional force / Tl g
26)

Question Stimulus :-

Find the measure of an angle, which is equal to its complement. / 39 1T BT HIY ITd w9 orgeer ufyaTor
ISP RP & SRR gl

e 90°
e (°
® 45°
e 180°
Correct Answer :-45°

27)
Question Stimulus :-

Cot 0 is not defined at / W Cot 6 TRHING 78] &

e B =45°

e 6 =0°

e 6 =90°

e 0=p9=45°
Correct Answer :-6 = 0°

28)

Question Stimulus :-

(46)



The movie viewership pattern of a sample of 4000 Bangaloreans is tabulated below.
The pie chart also gives age-wise distribution of the 4000 Bangaloreans. / 4000

Rt & R dEm & 8% &1 g A= o e daw & exifar man 81 urs w1 §RT 4000 STER
Rl &1 39 & SrgarR faavur ff faamar mar 81

(Figure in percentage) / 9faerd & 3%
Elders /
Children / Middle age/ | & i
R Youth H}:ET HEI A
=45 yrsg
<15yrs/ | 15-25¥18/ | o5 45 yrs 45 a9 3
ay 15-2509 /26-45T9 HiEw
Casablanca
EmIERIEn 20 45 65 63
DOLJ
!éléma["l 40 a9 40 45
Finding Nema
i iilSi? T 30 30 20 32
Titanic
;EISE i 10 32 43 43
None ofthe
above /
IEd H E
PIs #T el 48 25 18 25
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~Elders, 21%

Ididdle-aged,
33%

/— Children, 17%

Youth, 2 ";:I_//

How many people over the age of 25 saw DDLJ? /25 G| anga?w fpaq @ A SiSivas
?

* 678
* 906
e 840
e 726
Correct Answer :-906

29)

Question Stimulus :-

CFC is the abbreviation for / HUHdl 99 ¥ fFa®T Hau @

¢ carbonflurochloride / Wﬁﬂ'ﬁg
® cobaltflurocarbon /m
® carbonfluorocyanide / Wm

® chloroflurocarbon / Wﬁﬁm
Correct Answer :-chloroflurocarbon / FIRIRIBTET

30)

Question Stimulus :-

(48)



= "‘T =2
Ifl 14 4 , then x =

® 4263
® 2436
® 2463
® 4213

Correct Answer :-4263

(49)




